INVITATION FOR BID SUMMARY REPORT AND AWARD RECOMMENDATION

Date: July 13, 2017

Bid Number and Title: IFB 18-06 Tree Maintenance & Removal, As Needed

Bid Opening Date and Time: July 11, 2017, 11:00 AM

Bids Opened by: Gina Gilpin, Purchasing Agent

Witnessed by: Sam Lily

Total Bids Received: Six (6)

Bids were received from six (6) vendors for the subject IFB. See the detailed Bid Tabulation, attached.

RTEC Treecare was the low bidder with a total bid amount of **\$49,850**. RTEC has been determined to be a responsive and responsible bidder, and has met the specifications of the IFB.

Award is recommended to be made, for a contract, beginning July 1, 2017, to:

RTEC Tree Care 2828 Mary Street Falls Church, VA 22042

In the amount of **\$49,850**

IFB 18-06 TREE MAINTENANCE & REMOVAL, AS NEEDED BID TABULATION JULY 13, 2017

| _ | _ | | _ |
|-------|------|--------|---------|
| Davev | Tree | Expert | Company |

| | 1 | ı | , | | | | | , | |
|------|------------------|----------------------------------|---------------|-------------------|--|---------------|-------------------|---------------------------------|-------------------|
| ITEM | DESCRIPTION | ESTIMATED QUANTITY PRUNING | UNIT PRICE | EXTENDED PRICE | ESTIMATED QUANTITY REMOVAL/STUMP GRINDING | UNIT PRICE | EXTENDED PRICE | STUMP GRINDING UNIT PRICE | EXTENDED PRICE |
| 1 | 12" > 18" dbh | 3 | \$205.00 | \$615.00 | 1 | \$280.00 | \$280.00 | \$180.00 | \$180.00 |
| 2 | 18" > 24" dbh | 3 | \$254.00 | \$762.00 | 3 | \$722.00 | \$2,166.00 | \$252.00 | \$756.00 |
| 3 | 24" > 30" dbh | 3 | \$369.00 | \$1,107.00 | 3 | \$930.00 | \$2,790.00 | \$324.00 | \$972.00 |
| 4 | 30" > 36" dbh | 3 | \$464.00 | \$1,392.00 | 2 | \$1,263.00 | \$2,526.00 | \$396.00 | \$792.00 |
| 5 | 36" > 42" dbh | 3 | \$566.00 | \$1,698.00 | 4 | \$1,543.00 | \$6,172.00 | \$468.00 | \$1,872.00 |
| 6 | 42" > 48" dbh | 2 | \$670.00 | \$1,340.00 | 5 | \$1,743.00 | \$8,715.00 | \$540.00 | \$2,700.00 |
| 7 | 48" & larger dbh | 2 | \$792.00 | \$1,584.00 | 5 | \$2,130.00 | \$10,650.00 | \$576.00 | \$2,880.00 |
| | | | | | | | | | |
| | | | Total Pruning | \$8,498.00 | | Total Removal | \$33,299.00 | Total Stump Grinding | \$10,152.00 |
| | | | | | | | | | |
| | | | Total Bid | \$51,949.00 | | | | | |
| | | | | | | | | | |

| RTEC T | reecare **L | OW BIDDER** | | | | | | | |
|--------|------------------|----------------------------------|---------------|-------------------|--|---------------|-------------------|---------------------------------|-------------------|
| ITEM | DESCRIPTION | ESTIMATED QUANTITY PRUNING | UNIT PRICE | EXTENDED PRICE | ESTIMATED QUANTITY REMOVAL/STUMP GRINDING | UNIT PRICE | EXTENDED PRICE | STUMP GRINDING UNIT PRICE | EXTENDED PRICE |
| 1 | 12" > 18" dbh | 3 | \$225.00 | \$675.00 | 1 | \$587.00 | \$587.00 | \$200.00 | \$200.00 |
| 2 | 18" > 24" dbh | 3 | \$306.00 | \$918.00 | 3 | \$747.00 | \$2,241.00 | \$220.00 | \$660.00 |
| 3 | 24" > 30" dbh | 3 | \$339.00 | \$1,017.00 | 3 | \$1,050.00 | \$3,150.00 | \$350.00 | \$1,050.00 |
| 4 | 30" > 36" dbh | 3 | \$444.00 | \$1,332.00 | 2 | \$1,500.00 | \$3,000.00 | \$425.00 | \$850.00 |
| 5 | 36" > 42" dbh | 3 | \$550.00 | \$1,650.00 | 4 | \$1,500.00 | \$6,000.00 | \$475.00 | \$1,900.00 |
| 6 | 42" > 48" dbh | 2 | \$575.00 | \$1,150.00 | 5 | \$1,500.00 | \$7,500.00 | \$475.00 | \$2,375.00 |
| 7 | 48" & larger dbh | 2 | \$610.00 | \$1,220.00 | 5 | \$2,000.00 | \$10,000.00 | \$475.00 | \$2,375.00 |
| | | | | | | | | | |
| | | | Total Pruning | \$7,962.00 | | Total Removal | \$32,478.00 | Total Stump Grinding | \$9,410.00 |
| | | | Total Bid | \$49,850.00 | | | | | |
| | | | | | | | | | |

| Pittman's Tree & La | andscaping. |
|---------------------|-------------|
|---------------------|-------------|

| | | ESTIMATED | | | ESTIMATED QUANTITY | | | STUMP | |
|------|------------------|-----------|---------------|-------------|-----------------------|---------------|-------------|-------------------------|------------|
| | | QUANTITY | | EXTENDED | REMOVAL/STUMP | | EXTENDED | GRINDING UNIT | EXTENDED |
| ITEM | DESCRIPTION | PRUNING | UNIT PRICE | PRICE | GRINDING | UNIT PRICE | PRICE | PRICE | PRICE |
| 1 | 12" > 18" dbh | 3 | \$275.00 | \$825.00 | 1 | \$300.00 | \$300.00 | \$100.00 | \$100.00 |
| 2 | 18" > 24" dbh | 3 | \$425.00 | \$1,275.00 | 3 | \$450.00 | \$1,350.00 | \$125.00 | \$375.00 |
| 3 | 24" > 30" dbh | 3 | \$610.00 | \$1,830.00 | 3 | \$650.00 | \$1,950.00 | \$150.00 | \$450.00 |
| 4 | 30" > 36" dbh | 3 | \$740.00 | \$2,220.00 | 2 | \$875.00 | \$1,750.00 | \$175.00 | \$350.00 |
| 5 | 36" > 42" dbh | 3 | \$920.00 | \$2,760.00 | 4 | \$1,200.00 | \$4,800.00 | \$200.00 | \$800.00 |
| 6 | 42" > 48" dbh | 2 | \$1,200.00 | \$2,400.00 | 5 | \$1,800.00 | \$9,000.00 | \$225.00 | \$1,125.00 |
| 7 | 48" & larger dbh | 2 | \$2,000.00 | \$4,000.00 | 5 | \$2,400.00 | \$12,000.00 | \$250.00 | \$1,250.00 |
| | | | | | | | | | |
| | | | Total Pruning | \$15,310.00 | | Total Removal | \$31,150.00 | Total Stump Grinding | \$4,450.00 |
| | | | Total Bid | \$50,910.00 | | | | | |
| | | | | | | | | | |

| Donega | an's Tree Service | | | | | | | | |
|--------|-------------------|----------------------------------|---------------|-------------------|--|---------------|-------------------|---------------------------------|-------------------|
| ITEM | DESCRIPTION | ESTIMATED QUANTITY PRUNING | UNIT PRICE | EXTENDED PRICE | ESTIMATED QUANTITY REMOVAL/STUMP GRINDING | UNIT PRICE | EXTENDED PRICE | STUMP GRINDING UNIT PRICE | EXTENDED PRICE |
| 1 | 12" > 18" dbh | 3 | \$160.00 | \$480.00 | 1 | \$420.00 | \$420.00 | \$60.00 | \$60.00 |
| 2 | 18" > 24" dbh | 3 | \$250.00 | \$750.00 | 3 | \$1,475.00 | \$4,425.00 | \$110.00 | \$330.00 |
| 3 | 24" > 30" dbh | 3 | \$345.00 | \$1,035.00 | 3 | \$1,492.00 | \$4,476.00 | \$160.00 | \$480.00 |
| 4 | 30" > 36" dbh | 3 | \$450.00 | \$1,350.00 | 2 | \$1,598.00 | \$3,196.00 | \$225.00 | \$450.00 |
| 5 | 36" > 42" dbh | 3 | \$500.00 | \$1,500.00 | 4 | \$1,651.00 | \$6,604.00 | \$275.00 | \$1,100.00 |
| 6 | 42" > 48" dbh | 2 | \$598.00 | \$1,196.00 | 5 | \$1,775.00 | \$8,875.00 | \$295.00 | \$1,475.00 |
| 7 | 48" & larger dbh | 2 | \$625.00 | \$1,250.00 | 5 | \$1,850.00 | \$9,250.00 | \$325.00 | \$1,625.00 |
| | | | Total Pruning | \$7,561.00 | | Total Removal | \$37,246.00 | Total Stump Grinding | \$5,520.00 |
| | | | Total Bid | \$50,327.00 | | | | | |
| | | | | | | | | | |

| ı | 17 | Γrε | مد | Se | rv | ice |
|---|----|-----|----|----|----|-----|
| | | | | | | |

| | | | | | ESTIMATED | | | | |
|------|------------------|-----------|---------------|-------------|---------------|---------------|-------------|-------------------------|------------|
| | | ESTIMATED | | | QUANTITY | | | STUMP | |
| | | QUANTITY | | EXTENDED | REMOVAL/STUMP | | EXTENDED | GRINDING UNIT | EXTENDED |
| ITEM | DESCRIPTION | PRUNING | UNIT PRICE | PRICE | GRINDING | UNIT PRICE | PRICE | PRICE | PRICE |
| 1 | 12" > 18" dbh | 3 | \$175.00 | \$525.00 | 1 | \$450.00 | \$450.00 | \$75.00 | \$75.00 |
| 2 | 18" > 24" dbh | 3 | \$275.00 | \$825.00 | 3 | \$1,250.00 | \$3,750.00 | \$100.00 | \$300.00 |
| 3 | 24" > 30" dbh | 3 | \$375.00 | \$1,125.00 | 3 | \$1,450.00 | \$4,350.00 | \$125.00 | \$375.00 |
| 4 | 30" > 36" dbh | 3 | \$475.00 | \$1,425.00 | 2 | \$1,750.00 | \$3,500.00 | \$150.00 | \$300.00 |
| 5 | 36" > 42" dbh | 3 | \$575.00 | \$1,725.00 | 4 | \$2,000.00 | \$8,000.00 | \$200.00 | \$800.00 |
| 6 | 42" > 48" dbh | 2 | \$675.00 | \$1,350.00 | 5 | \$2,750.00 | \$13,750.00 | \$250.00 | \$1,250.00 |
| 7 | 48" & larger dbh | 2 | \$675.00 | \$1,350.00 | 5 | \$3,300.00 | \$16,500.00 | \$300.00 | \$1,500.00 |
| | | | | | | | | | |
| | | | Total Pruning | \$8,325.00 | | Total Removal | \$50,300.00 | Total Stump Grinding | \$4,600.00 |
| | | | | | | | | | |
| | | | Total Bid | \$63,225.00 | | | | | |
| | | | | | | | | | |

| G&V Tr | ee and Landscapin _i | g | | | | | | | |
|--------|--------------------------------|-----------|---------------|-------------|---------------|---------------|-------------|-------------------------|------------|
| | | ESTIMATED | | | QUANTITY | | | STUMP | |
| | | QUANTITY | | EXTENDED | REMOVAL/STUMP | | EXTENDED | GRINDING UNIT | EXTENDED |
| ITEM | DESCRIPTION | PRUNING | UNIT PRICE | PRICE | GRINDING | UNIT PRICE | PRICE | PRICE | PRICE |
| 1 | 12" > 18" dbh | 3 | \$298.00 | \$894.00 | 1 | \$630.00 | \$630.00 | \$90.00 | \$90.00 |
| 2 | 18" > 24" dbh | 3 | \$480.00 | \$1,440.00 | 3 | \$1,082.00 | \$3,246.00 | \$170.00 | \$510.00 |
| 3 | 24" > 30" dbh | 3 | \$580.00 | \$1,740.00 | 3 | \$1,630.00 | \$4,890.00 | \$150.00 | \$450.00 |
| 4 | 30" > 36" dbh | 3 | \$630.00 | \$1,890.00 | 2 | \$2,575.00 | \$5,150.00 | \$180.00 | \$360.00 |
| 5 | 36" > 42" dbh | 3 | \$680.00 | \$2,040.00 | 4 | \$3,160.00 | \$12,640.00 | \$275.00 | \$1,100.00 |
| 6 | 42" > 48" dbh | 2 | \$825.00 | \$1,650.00 | 5 | \$3,880.00 | \$19,400.00 | \$360.00 | \$1,800.00 |
| 7 | 48" & larger dbh | 2 | \$1,250.00 | \$2,500.00 | 5 | \$6,150.00 | \$30,750.00 | \$450.00 | \$2,250.00 |
| | | | | | | | | | |
| | | | Total Pruning | \$12,154.00 | | Total Removal | \$76,706.00 | Total Stump Grinding | \$6,560.00 |
| | | | | | | | | | · |
| | | | Total Bid | \$95,420.00 | | | | | |
| | | | | | | | • | | • |